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TAHTSToT TeaRea T YT 3, fa7=T A pO) FT g () T T & W HARTHA TUT AYF AT
fifow
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l.  p (X)=x3+5x-3, g(x)=x*2
. p(X)=x*-3x2+4x+5, g(X)=x2+1-x
. p(x)=x*-5x+6, g(x)=2-x2

i) p(x)=x3+3x2+5x-3. g(x)=x?2

X-3
X2 — \F _3x2 + 5x - 3
3 — 2%
& (+)
/
-3+ X -3
— 32 + 6
(+) (—)
7x -9

HITHS = x-3. ATHA=7x-9
I )p(X)=x*-3x*+4x+5, g(x)=x*+1-x

X+x-3

xz—x+1J -3x2+4x +5
X -+ 2
(

2 ® 6

] -4 +4x +5
.
H® 6

32+ 3+ 5
- Bx2 + Bx - 3
0 ®

8

HTH = x>+x-3 AYHI=8

l|learnbseb.in




iii)p(x)=x*-5x+6, g(x)=2-x2
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37eT: 12-3, 2t*+3t3-2t%9t-12 FT TF VTGS &
i) X2+3x+1, 3x*+5x3-7x%+2x+2
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p(X)=3x*+6x3-2x2-10x-5
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ar 3x2 -5 =0
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3c: plx)=(3x>-5)(x?+2x+1)
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3, x2+2x+1 Y IOTAES Y Yrdh AT e W

= X2 + X+ X+ 1=0
= xX(x + 1) + 1(x+ 1) =0

=(x+1)(x+1)=0

H: g T ek -13I -1 8

AT x*-3xP4x+2 T TF TGIG gx) H HIIT oT T TS I ATHT AT x - 2 3R -2x+4 & T g ()
AT hifST|
g

fear § 5p ()= x3-3x2+x+2
HITheT: qix)=x-2

AYFHT: r (x) = -2x+4

HToTh: glx) =?

HIST= HTSTh xITH + AT
P(X)=a(x)g(x)+r(x)

X3-3x2+x+2 =g(X)(X - 2)+(-2x+4)

g(x)(x - 2)= x3 - 3x?+3x-2
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32-3x2+3x -2
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g(x) =
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37 HSTHh gx)=x>-x+1 g |

E)agual p (x),g(x),q(x) 3R r (x) & @ ST T A sirerer veanReu# F Hgse F3d &
agr

(DETp(x) =TT q(x)&

(i gTq(x)=9Tdr(x) &

(i) gadr(x)=0 8

IfFas Remee veanRyw @

p(Xx)=g(x)xq(x)+r(x)

(i)=aTd p (x)=8Td q(x) &

gol:

TS p (x ) 3R HRTHS q( x ) T GTdT ATHTA T & TehdlT & ST $TSTh g ( x) ST T 0 37U IS
JEATEN |

W:mp(x)=2x2-6x+33ﬂ1'

AT g (x) =2
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P(X)=2x2-6x+2+1=2(x>-3x+1)+1

HT2(x2-3x+1)+1Hp(x)=g(x)xq(x)+r(x) el A RWEAUTA R :
Ad:q(x)=x2-3x+13Rr(x)=1
SHAUd p (x)=HTd q ( x ) AT &1 |

(i) ET q(x)=aTdr (x) &

gol:

g TTUfa ae 3T g 519 p (x ) 3R g ( x ) T G ATATT & 5 -
HIAT

P(Xx)=2x2+6x+73Rg(x)=x2+3x+2
pP(X)=2(x? + 3x + 3)+1

HIT A W :

q(x)=23-ﬁTr(x)=1

AT =T q(x) =TT r(x¢g |

(i) grdr(x) =0 &

gol:

r(x)=0dsgrarg

ST p(x),g(x) @ qd: [T ar:
P(x)=x-1,g(x)=x+1 AN dFARqq(x)=x-13Rr(x) =0 IcT &g |

7|learnbseb.in




